

# Existence of Solutions to a Generalized Self-Dual Chern-Simons System on Finite Graphs

CHAO Ruixue, HOU Songbo\* and SUN Jiamin

*Department of Applied Mathematics, College of Science, China Agricultural University, Beijing 100083, China.*

Received 30 January 2023; Accepted 12 January 2024

**Abstract.** We study a system of equations arising in the Chern-Simons model on finite graphs. Using the iteration scheme and the upper and lower solutions method, we get existence of solutions in the non-critical case. The critical case is dealt with by priori estimates. Our results generalize those of Huang et al. (Journal of Functional Analysis 281(10) (2021) Paper No. 109218).

**AMS Subject Classifications:** 35J47, 05C22

**Chinese Library Classifications:** O175, O177

**Key Words:** Finite graph; Chern-Simons system; upper and lower solutions; priori estimates.

## 1 Introduction

The Chern-Simons models describe gauge fields governed by Chern-Simons type dynamics, and explain certain phenomena in the fields of particle physics, condensed matter physics and so on [1–3]. Some Chern-Simons models can be reduced to elliptic equations with exponential nonlinearities. Many studies were devoted to self-dual Chern-Simons equations including nonrelativistic and relativistic cases, Abelian and non-Abelian cases.

In this paper, we consider the following Chern-Simons system

$$\begin{cases} \Delta u = -\lambda e^v H(e^v) g(e^u) + 4\pi \sum_{j=1}^{N_1} \delta_{p_j'}, \\ \Delta v = -\lambda e^u G(e^u) h(e^v) + 4\pi \sum_{j=1}^{N_2} \delta_{p_j''}, \end{cases} \quad (1.1)$$

\*Corresponding author. Email addresses: 2019309040125@cau.edu.cn (R. X. Chao), housb@cau.edu.cn (S. B. Hou), 1416525364@qq.com (J. M. Sun)

on a finite graph, where  $G > 0$ ,  $H > 0$  are increasing,  $C^\infty$  functions in  $[0, \infty)$ ;  $g$  and  $h$  are defined by  $g(s^2) = \int_s^1 2sG(s^2)ds$  and  $h(s^2) = \int_s^1 2sH(s^2)ds$ , respectively;  $\lambda > 0$  is a constant;  $N_1$  and  $N_2$  are positive integers;  $\delta_p$  is the Dirac delta mass at vertex  $p$ . The system (1.1) was proposed in [4] to study the  $U(1) \times U(1)$  Chern-Simons model with a general Higgs potential. For the special case  $G \equiv 1$  and  $H \equiv 1$ , the existence of solutions to the system (1.1) was obtained in [5,6], and the discrete form of (1.1) on finite graphs was investigated in [7]. For more results on discrete equations with exponential nonlinearities, one may refer to [8–16].

We write  $G = (V, E)$  to denote a connected finite graph, where  $V$  and  $E$  represent vertices and edges, respectively. We assume the weight  $\omega_{xy} > 0$  on edge  $xy$  is symmetric. Let  $\mu: V \rightarrow \mathbb{R}^+$  be a finite measure. For functions  $u, v: V \rightarrow \mathbb{R}$ , we define the  $\mu$ -Laplace operator by

$$\Delta u(x) = \frac{1}{\mu(x)} \sum_{y \sim x} \omega_{xy}(u(y) - u(x)), \quad (1.2)$$

and let

$$\Gamma(u, v) = \frac{1}{2\mu(x)} \sum_{y \sim x} \omega_{xy}(u(y) - u(x))(v(y) - v(x)), \quad (1.3)$$

where  $y \sim x$  means vertex  $y$  is adjacent to vertex  $x$ . Write

$$|\nabla u|(x) = \left( \frac{1}{2\mu(x)} \sum_{y \sim x} \omega_{xy}(u(y) - u(x))^2 \right)^{\frac{1}{2}}.$$

For any function  $f: V \rightarrow \mathbb{R}$ , the integral of  $f$  over  $V$  is defined by

$$\int_V f d\mu = \sum_{x \in V} \mu(x)f(x).$$

We define the Sobolev space as in the Euclidean case by

$$W^{1,2}(V) = \left\{ u \mid u: V \rightarrow \mathbb{R}, \int_V (|\nabla u|^2 + u^2) d\mu < +\infty \right\}.$$

We get the following results about the existence of maximal solutions.

**Theorem 1.1.** *There exists  $\lambda_c \geq \frac{4\pi \max\{N_1, N_2\}}{G(1)H(1)|V|}$  such that*

- (1) *If  $\lambda > \lambda_c$ , the system (1.1) admits a unique maximal solution  $(u_\lambda, v_\lambda)$  in the sense that if  $(u'_\lambda, v'_\lambda)$  is any other solution, then  $u_\lambda > u'_\lambda$ ,  $v_\lambda > v'_\lambda$ . Moreover, if  $\lambda_1 > \lambda_2 > \lambda_c$ , then  $u_{\lambda_1} > u_{\lambda_2}$  and  $v_{\lambda_1} > v_{\lambda_2}$ .*
- (2) *If  $\lambda < \lambda_c$ , the system (1.1) admits no solution.*
- (3) *If  $\lambda = \lambda_c$ , the system (1.1) admits a solution  $(u_*, v_*)$  which satisfies  $u_* < u_\lambda$  and  $v_* < v_\lambda$  if  $\lambda_c < \lambda$ .*

We also employ the iteration scheme as described in [4, 6, 17], while use different methods in the proof of the case (3) in Theorem 1.1. Our results generalize those of Huang et al. [7].

## 2 Proof of the main results

Let  $(u_0, v_0)$  be a solution to the system

$$\begin{cases} \Delta u = -\frac{4\pi N_1}{|V|} + 4\pi \sum_{j=1}^{N_1} \delta_{p_j'}, \\ \Delta v = -\frac{4\pi N_2}{|V|} + 4\pi \sum_{j=1}^{N_2} \delta_{p_j''}. \end{cases} \quad (2.1)$$

Set  $u' = u_0 + u$  and  $v' = v_0 + v$  if  $(u', v')$  is a solution to system (1.1). Substituting them into (1.1) gives

$$\begin{cases} \Delta u = -\lambda e^{v_0+v} H(e^{v_0+v}) g(e^{u_0+u}) + \frac{4\pi N_1}{|V|}, \\ \Delta v = -\lambda e^{u_0+u} G(e^{u_0+u}) h(e^{v_0+v}) + \frac{4\pi N_2}{|V|}. \end{cases} \quad (2.2)$$

We say that  $(u_-, v_-)$  is a lower solution of (2.2) if it satisfies

$$\begin{cases} \Delta u_- \geq -\lambda e^{v_0+v_-} H(e^{v_0+v_-}) g(e^{u_0+u_-}) + \frac{4\pi N_1}{|V|}, \\ \Delta v_- \geq -\lambda e^{u_0+u_-} G(e^{u_0+u_-}) h(e^{v_0+v_-}) + \frac{4\pi N_2}{|V|}. \end{cases} \quad (2.3)$$

Let  $(u_1, v_1) = (-u_0, -v_0)$ . We carry out the following iteration procedure

$$\begin{cases} (\Delta - K)u_{n+1} = -\lambda e^{v_0+v_n} H(e^{v_0+v_n}) g(e^{u_0+u_n}) - Ku_n + \frac{4\pi N_1}{|V|}, \\ (\Delta - K)v_{n+1} = -\lambda e^{u_0+u_n} G(e^{u_0+u_n}) h(e^{v_0+v_n}) - Kv_n + \frac{4\pi N_2}{|V|}. \end{cases} \quad (2.4)$$

**Lemma 2.1.** *Let  $\{(u_n, v_n)\}$  be the sequence determined by (2.4). Then for any lower solution  $(u_-, v_-)$  of (2.2), there holds*

$$\begin{cases} u_1 > u_2 > \cdots > u_n > \cdots > u_-, \\ v_1 > v_2 > \cdots > v_n > \cdots > v_-. \end{cases} \quad (2.5)$$

Furthermore, if (2.4) has a lower solution, it admits a unique maximal solution  $(u_\lambda, v_\lambda)$  in the sense that if  $(u'_\lambda, v'_\lambda)$  is any other solution, then  $u_\lambda > u'_\lambda$ ,  $v_\lambda > v'_\lambda$ .

*Proof.* We will prove it by the induction method. For  $n = 1$ , by the iteration scheme, we have

$$\begin{cases} (\Delta - K)(u_2 - u_1) = 4\pi \sum_{j=1}^{N_1} \delta_{p'_j}, \\ (\Delta - K)(v_2 - v_1) = 4\pi \sum_{j=1}^{N_2} \delta_{p''_j}. \end{cases} \quad (2.6)$$

Then the maximum principle, i.e., Lemma 4.1 in [17] indicates  $u_2 \leq u_1$  and  $v_2 \leq v_1$ . Suppose that  $u_2 - u_1$  attains the maximum 0 at some  $x_0 \in V$ . Then by (2.6), we obtain  $\Delta(u_2 - u_1)(x_0) \geq 0$ . However, by (1.2),  $\Delta(u_2 - u_1)(x_0) \leq 0$ . Hence,  $(u_2 - u_1)(x) = (u_2 - u_1)(x_0) = 0$  if  $x \sim x_0$ , which yields  $(u_2 - u_1)(x) \equiv 0$  since  $G$  is connected. This leads to a contradiction with the inequality  $(\Delta - K)(u_2 - u_1) > 0$  at  $p'_j$ . Therefore,  $u_2 < u_1$ , and similarly,  $v_2 < v_1$ . Now suppose that

$$\begin{cases} u_1 > \cdots > u_n, \\ v_1 > \cdots > v_n. \end{cases} \quad (2.7)$$

Choose  $K > \lambda H(1)G(1)$ . It is seen from (2.4) that

$$\begin{aligned} & (\Delta - K)(u_{n+1} - u_n) \\ &= -\lambda e^{v_0 + v_n} H(e^{v_0 + v_n}) g(e^{u_0 + u_n}) + \lambda e^{v_0 + v_{n-1}} H(e^{v_0 + v_{n-1}}) g(e^{u_0 + u_{n-1}}) - K(u_n - u_{n-1}) \\ &\geq -\lambda H(1) (g(e^{u_0 + u_n}) - g(e^{u_0 + u_{n-1}})) - K(u_n - u_{n-1}) \\ &= (\lambda H(1) e^{\xi} G(e^{\xi}) - K)(u_n - u_{n-1}) \\ &\geq (\lambda H(1) G(1) - K)(u_n - u_{n-1}) \\ &> 0, \end{aligned}$$

where we have used the mean value theorem and  $u_0 + u_n \leq \xi \leq u_0 + u_{n-1}$ . Applying the same method as used in proving  $u_2 < u_1$ , we obtain  $u_{n+1} < u_n$ . Hence, we get

$$u_1 > \cdots > u_n > \cdots.$$

Similarly, there also holds

$$v_1 > \cdots > v_n > \cdots.$$

Next we prove  $u_n > u_-$  and  $v_n > v_-$  for any  $n$ . For  $n = 1$ , we derive that

$$\begin{aligned} \Delta(u_- - u_1) &\geq -\lambda e^{v_0 + v_-} H(e^{v_0 + v_-}) g(e^{u_0 + u_-}) + 4\pi \sum_{j=1}^{N_1} \delta_{p'_j} \\ &= -\lambda e^{v_0 + v_-} H(e^{v_0 + v_-}) [g(e^{u_0 + u_-}) - g(e^{u_0 + u_1})] + 4\pi \sum_{j=1}^{N_1} \delta_{p'_j} \end{aligned}$$

$$= \lambda e^{v_0+v_-} H(e^{v_0+v_-}) e^{\tilde{\zeta}} G(e^{\tilde{\zeta}}) (u_- - u_1) + 4\pi \sum_{j=1}^{N_1} \delta_{p'_j}, \quad (2.8)$$

where  $\tilde{\zeta}$  lies between  $u_- - u_1$  and 0. Noting that  $G$  is finite, we have that there exists  $x_0$  such that  $(u_- - u_1)(x_0) = \max_{x \in V} (u_- - u_1)(x)$ . Assuming that  $(u_- - u_1)(x_0) \geq 0$ , then by (2.8) we have  $\Delta(u_- - u_1)(x_0) \geq 0$ . Again, we have  $\Delta(u_- - u_1)(x_0) \leq 0$  by (1.2). Hence,  $(u_- - u_1)(x) = (u_- - u_1)(x_0)$  if  $x \sim x_0$ , and  $(u_- - u_1)(x) \equiv (u_- - u_1)(x_0)$  since  $G$  is connected, which contradicts (2.8) at  $p'_j$ . Hence, the assumption is not true and  $u_- < u_1$ . Similarly,  $v_- < v_1$ . For some  $n \geq 1$ , assume that  $u_- < u_{n-1}$  and  $v_- < v_{n-1}$ . In view of (2.3) and (2.4), we arrive at

$$\begin{aligned} (\Delta - K)(u_- - u_n) &\geq -\lambda e^{v_0+v_-} H(e^{v_0+v_-}) g(e^{u_0+u_-}) + \lambda e^{v_0+v_{n-1}} H(e^{v_0+v_{n-1}}) g(e^{u_0+u_{n-1}}) \\ &\quad - K(u_- - u_{n-1}) \\ &\geq -\lambda e^{v_0+v_{n-1}} H(e^{v_0+v_{n-1}}) (g(e^{u_0+u_-}) - g(e^{u_0+u_{n-1}})) - K(u_- - u_{n-1}) \\ &= \lambda e^{v_0+v_{n-1}} H(e^{v_0+v_{n-1}}) e^{\tilde{\zeta}} G(e^{\tilde{\zeta}}) (u_- - u_{n-1}) - K(u_- - u_{n-1}) \\ &\geq (\lambda H(1)G(1) - K)(u_- - u_{n-1}) \\ &> 0, \end{aligned}$$

where  $u_- + u_0 \leq \tilde{\zeta} \leq u_{n-1} + u_0$ . By the maximum principle, we have  $u_- \leq u_n$ . Using the same argument as before, we get  $u_- < u_n$ . Similarly,  $v_- < v_n$ .

It is easy to see that if the system (2.2) has a lower solution, then it admits a solution  $(u_\lambda, v_\lambda) = \lim_{n \rightarrow \infty} (u_n, v_n)$ . If  $(u'_\lambda, v'_\lambda)$  is any other solution, noting that  $(u'_\lambda, v'_\lambda)$  is also a lower solution of (2.2), there holds  $u_\lambda \geq u'_\lambda$ ,  $v_\lambda \geq v'_\lambda$ . Furthermore, proceeding analogously as before, we get

$$(\Delta - K)(u'_\lambda - u_\lambda) \geq (\lambda H(1)G(1) - K)(u'_\lambda - u_\lambda) \geq 0.$$

Assuming that  $\max_{x \in V} (u'_\lambda - u_\lambda)(x) = (u'_\lambda - u_\lambda)(x_0) = 0$  for some  $x_0 \in V$ , then we conclude that  $\Delta(u'_\lambda - u_\lambda)(x_0) \geq 0$ . Hence  $(u'_\lambda - u_\lambda)(x) = 0$  if  $x \sim x_0$ . The connectedness of  $G$  leads to  $(u'_\lambda - u_\lambda)(x) \equiv 0$ . Similarly,  $v'_\lambda(x) \equiv v_\lambda(x)$ . This contradicts the assumption  $(u_\lambda, v_\lambda) \neq (u'_\lambda, v'_\lambda)$ . Therefore,  $u_\lambda > u'_\lambda$ ,  $v_\lambda > v'_\lambda$ . Thus, in this sense,  $(u_\lambda, v_\lambda)$  is a unique maximal solution.  $\square$

**Lemma 2.2.** *The system (2.2) has a solution if  $\lambda$  is big enough.*

*Proof.* Observe that the functions  $u_0$  and  $v_0$  are bounded since  $G$  is finite. Thus, there exists  $(c_1, c_2)$  such that  $u_0 - c_1 < 0$  and  $v_0 - c_2 < 0$ . Let  $(u_-, v_-) = (-c_1, -c_2)$ . It is obvious that

$$\begin{cases} \Delta u_- \geq -\lambda e^{v_0+v_-} H(e^{v_0+v_-}) g(e^{u_0+u_-}) + \frac{4\pi N_1}{|V|}, \\ \Delta v_- \geq -\lambda e^{u_0+u_-} G(e^{u_0+u_-}) h(e^{v_0+v_-}) + \frac{4\pi N_2}{|V|}, \end{cases} \quad (2.9)$$

if  $\lambda$  is big enough. Hence  $(u_-, v_-)$  is a lower solution of the system (2.2). This guarantees the existence of the solution.  $\square$

**Lemma 2.3.** *There exists  $\lambda_c > 0$  such that if  $\lambda > \lambda_c$ , the system (2.2) admits a solution, while if  $\lambda < \lambda_c$ , the system (2.2) admits no solution.*

*Proof.* If the system (2.2) admits a solution  $(u, v)$ , then by integrating both sides of equations in (2.2) on  $V$ , we get the necessary condition

$$\lambda \geq \frac{4\pi \max\{N_1, N_2\}}{G(1)H(1)|V|}. \quad (2.10)$$

Define the set

$$\Lambda := \left\{ \lambda > 0 \mid \lambda \text{ is such that the system (2.2) has a solution} \right\}.$$

Assume that  $\lambda \in \Lambda$  and denote by  $(u_\lambda, v_\lambda)$  the solution to the system (2.2). For  $\lambda_1 \in \Lambda$  and  $\lambda_1 < \lambda_2$ , it follows from (2.2) that  $(u_{\lambda_1}, v_{\lambda_1})$  is a lower solution for (2.2) with  $\lambda = \lambda_2$ . Hence, we infer that  $[\lambda_1, +\infty) \subset \Lambda$  and  $\Lambda$  is an interval. Denote  $\lambda_c = \inf\{\lambda \mid \lambda \in \Lambda\}$ . The inequality (2.10) yields  $\lambda_c \geq \frac{4\pi \max\{N_1, N_2\}}{G(1)H(1)|V|}$ . This completes the proof.  $\square$

Lemmas 2.1 and 2.3 indicate that if  $\lambda > \lambda_c$ , the system (2.2) has a maximal solution. Denote by  $\{(u_\lambda, v_\lambda) \mid \lambda > \lambda_c\}$  the family of maximal solutions of (2.2). Assume  $\lambda_1 > \lambda_2 > \lambda_c$ . It is easy to check that

$$\begin{aligned} \Delta u_{\lambda_2} &= -\lambda_2 e^{v_0+v_{\lambda_2}} H(e^{v_0+v_{\lambda_2}}) g(e^{u_0+u_{\lambda_2}}) + \frac{4\pi N_1}{|V|} \\ &= -\lambda_1 e^{v_0+v_{\lambda_2}} H(e^{v_0+v_{\lambda_2}}) g(e^{u_0+u_{\lambda_2}}) + \frac{4\pi N_1}{|V|} \\ &\quad + (\lambda_1 - \lambda_2) e^{v_0+v_{\lambda_2}} H(e^{v_0+v_{\lambda_2}}) g(e^{u_0+u_{\lambda_2}}) \\ &\geq -\lambda_1 e^{v_0+v_{\lambda_2}} H(e^{v_0+v_{\lambda_2}}) g(e^{u_0+u_{\lambda_2}}) + \frac{4\pi N_1}{|V|}. \end{aligned}$$

Similarly,

$$\Delta v_{\lambda_2} \geq -\lambda_1 e^{u_0+u_{\lambda_2}} G(e^{u_0+u_{\lambda_2}}) h(e^{v_0+v_{\lambda_2}}) + \frac{4\pi N_2}{|V|}.$$

Hence,  $(u_{\lambda_2}, v_{\lambda_2})$  is a lower solution of (2.2) with  $\lambda = \lambda_1$ . Thus,  $u_{\lambda_1} \geq u_{\lambda_2}$  and  $v_{\lambda_1} \geq v_{\lambda_2}$  by Lemma 2.1. Furthermore, the same argument as before leads to the inequality

$$\Delta(u_{\lambda_2} - u_{\lambda_1}) > \lambda_1 G(1)H(1)(u_{\lambda_2} - u_{\lambda_1}).$$

Assuming that  $\max_{x \in V} (u_{\lambda_2} - u_{\lambda_1})(x) = (u_{\lambda_2} - u_{\lambda_1})(x_0) = 0$  for some  $x_0 \in V$ . It follows that  $\Delta(u_{\lambda_2} - u_{\lambda_1})(x_0) > 0$ , which is impossible. Hence  $u_{\lambda_1}(x) > u_{\lambda_2}(x)$  for all  $x \in V$ . Similarly,

$v_{\lambda_1} > v_{\lambda_2}$ . Next we use priori estimates to deal with the critical case. We make the decomposition  $u_\lambda = \bar{u}_\lambda + u'_\lambda$ , where  $\bar{u}_\lambda = \frac{1}{|V|} \int_V u_\lambda d\mu$  and  $u'_\lambda = u_\lambda - \bar{u}_\lambda$ . By (2.2), we get

$$\begin{aligned} \|\nabla u'_\lambda\|_2^2 &= \lambda \int_V e^{v_0+v_\lambda} H(e^{v_0+v_\lambda}) g(e^{u_0+u_\lambda}) u'_\lambda d\mu \\ &\leq \lambda G(1) H(1) \int_V |u'_\lambda| d\mu \leq C\lambda |V|^{\frac{1}{2}} \|\nabla u'_\lambda\|_2, \end{aligned}$$

where we have used the Poincaré inequality, i.e., (Lemma 6, [12]). Hence

$$\|\nabla u'_\lambda\|_2 \leq C\lambda. \quad (2.11)$$

Noting  $u_0 + u_\lambda = u_0 + \bar{u}_\lambda + u'_\lambda < 0$ , by integration on  $V$ , we get

$$\bar{u}_\lambda < -\frac{1}{|V|} \int_V u_0(x) d\mu. \quad (2.12)$$

By integrating the second equation in (2.2) on  $V$ , it yields

$$\lambda \int_V e^{u_0+u_\lambda} d\mu \geq \frac{4\pi N_2}{G(1)H(1)}. \quad (2.13)$$

Using the Trudinger-Moser inequality, i.e., (Lemma 7, [12]), we obtain

$$\begin{aligned} \int_V e^{u_0+u_\lambda} d\mu &= \int_V e^{u_0+\bar{u}_\lambda+u'_\lambda} d\mu \leq e^{\bar{u}_\lambda} \max_{x \in V} e^{u_0} \int_V e^{u'_\lambda} d\mu \\ &\leq C e^{\bar{u}_\lambda} \int_V e^{\|\nabla u'_\lambda\|_2 \frac{u'_\lambda}{\|\nabla u'_\lambda\|_2}} d\mu \leq C e^{\bar{u}_\lambda} \int_V e^{\|\nabla u'_\lambda\|_2^2 + \frac{|u'_\lambda|^2}{4\|\nabla u'_\lambda\|_2^2}} d\mu \\ &\leq C e^{\bar{u}_\lambda} e^{\|\nabla u'_\lambda\|_2^2}. \end{aligned} \quad (2.14)$$

Then (2.13) and (2.14) give

$$e^{\bar{u}_\lambda} \geq C\lambda^{-1} e^{-\|\nabla u'_\lambda\|_2^2},$$

which together with (2.11) and (2.12) gives

$$|\bar{u}_\lambda| \leq C(1 + \lambda + \lambda^2).$$

Furthermore,

$$\|u_\lambda\|_{W^{1,2}(V)} \leq C(1 + \lambda + \lambda^2). \quad (2.15)$$

Similarly,

$$\|v_\lambda\|_{W^{1,2}(V)} \leq C(1 + \lambda + \lambda^2). \quad (2.16)$$

Set  $\lambda_c < \lambda < \lambda_c + 1$ . Noting (2.15) and (2.16) and the fact that the space  $W^{1,2}(V)$  is precompact, we conclude  $u_\lambda \rightarrow u_* \in W^{1,2}(V)$ ,  $v_\lambda \rightarrow v_* \in W^{1,2}(V)$ , pointwisely, as  $\lambda \rightarrow \lambda_c$ . Hence, we deduce that

$$\Delta u_\lambda \rightarrow \Delta u_*, \quad \Delta v_\lambda \rightarrow \Delta v_*,$$

$$\begin{aligned}\lambda e^{v_0+v_\lambda} H(e^{v_0+v_\lambda}) g(e^{u_0+u_\lambda}) &\rightarrow \lambda_c e^{v_0+v_*} H(e^{v_0+v_*}) g(e^{u_0+u_*}), \\ \lambda e^{u_0+u_\lambda} G(e^{u_0+u_\lambda}) h(e^{v_0+v_\lambda}) &\rightarrow \lambda_c e^{u_0+u_*} G(e^{u_0+u_*}) h(e^{v_0+v_*}),\end{aligned}$$

as  $\lambda \rightarrow \lambda_c$ . Thus,  $(u_*, v_*)$  is a solution of (2.2) with  $\lambda = \lambda_c$ . The following lemma is established.

**Lemma 2.4.** *If  $\lambda = \lambda_c$ , then the system (2.2) admits a solution.*

Arguing as in proving that  $(u_\lambda, v_\lambda)$  is monotone, one can show that  $u_\lambda > u_*$  and  $v_\lambda > v_*$  if  $\lambda > \lambda_c$ .

## Acknowledgments

This work is partially supported by the National Key Research and Development Program of China 2020YFA0713100 and by the National Natural Science Foundation of China (Grant No. 11721101).

## References

- [1] Kumar C. N., Khare A., Charged vortex of finite energy in nonabelian gauge theories with Chern-Simons term. *Phys. Lett. B.*, **178** (4) (1986), 395-399.
- [2] Zwanziger D., Exactly soluble nonrelativistic model of particles with both electric and magnetic charges. *Phys. Rev.*, **176** (5) (1968), 1480-1488.
- [3] Jain J. K., Composite-fermion approach for the fractional quantum Hall effect. *Phys. Rev. Lett.*, **63** (2) (1989), 199-202.
- [4] Nam K. H., Vortex condensation in  $U(1) \times U(1)$  Chern-Simons model with a general Higgs potential on a torus. *J. Math. Anal. Appl.*, **407** (2) (2013), 305-315.
- [5] Lin C. S., Ponce A. C. and Yang Y., A system of elliptic equations arising in Chern-Simons field theory. *J. Funct. Anal.*, **247** (2) (2007), 289-350.
- [6] Lin C. S., Prajapat J. V., Vortex condensates for relativistic Abelian Chern-Simons model with two Higgs scalar fields and two gauge fields on a torus. *Comm. Math. Phys.*, **288** (1) (2009), 311-347.
- [7] Huang H. Y., Wang J. and Yang W., Mean field equation and relativistic Abelian Chern-Simons model on finite graphs. *J. Funct. Anal.*, **281** (10) (2021), 109218.
- [8] Chao R., Hou S., Multiple solutions for a generalized Chern-Simons equation on graphs. *J. Math. Anal. Appl.*, **519** (1) (2023), 126787.
- [9] Gao J., Hou S., Existence theorems for a generalized Chern-Simons equation on finite graphs. *J. Math. Phys.*, **64** (9) (2023), 091502.
- [10] Ge H., The  $p$ th Kazdan-Warner equation on graphs. *Commun. Contemp. Math.*, **22** (06) (2020), 1950052.
- [11] Ge H., Jiang W., Kazdan-Warner equation on infinite graphs. *J. Korean Math. Soc.*, **55** (5) (2018), 1091-1101.
- [12] Grigor'yan A., Lin Y. and Yang Y., Kazdan-Warner equation on graph. *Calc. Var. Partial Differential Equations.*, **55** (4) (2016), 92.



- [13] Hou S., Sun J., Existence of solutions to Chern-Simons-Higgs equations on graphs. *Calc. Var. Partial Differential Equations.*, **61** (4) (2022), 139.
- [14] Liu S., Yang Y., Multiple solutions of Kazdan-Warner equation on graphs in the negative case. *Calc. Var. Partial Differential Equations*, **59** (5) (2020), 164.
- [15] Lü Y., Zhong P., Existence of solutions to a generalized self-dual Chern-Simons equation on graphs. (2021), *arXiv preprint arXiv:2107.12535*.
- [16] Zhang X., Chang Y.,  $p$ -th Kazdan-Warner equation on graph in the negative case. *J. Math. Anal. Appl.*, **466** (1) (2018), 400-407.
- [17] Huang A., Lin Y. and Yau S. T., Existence of solutions to mean field equations on graphs. *Comm. Math. Phys.*, **377** (1) (2020), 613-621.